Math 555: Differential Equations
Good Problems 8

Due: Thursday, 24 July 2014

LATE SUBMISSIONS WILL NOT BE ACCEPTED

Name: Keo }

Instructions: Complete all 5 problems.

Show enough work on the paper provided (this paper), and follow all instructions
carefully. Write your name on each page.

You may use any electronic (or other) aids that you wish, but you are expected to
show all relevant details of any calculations. A correct “answer” is not good enough;
I need to see how you got it!

Good Luck!



1.

Name:

Use the definition to calculate the Laplace transform £{f(#)} where

f)y=u.(t), c>0.
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2. Use the definition to calculate the Laplace transform £{f(£)} where

f(®) = uz () cos(1).
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Name:

3. Use Laplace transforms to solve the initial value problem

y'+4y =sint — up,(#) sin(t — 27);

y(0) =0,
y'(0)=0.
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Sketch the graph of the function and find its Laplace transform.
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5. Find the inverse Laplace transform £~!{F(s)} where

F(s) = (s—2)e”*
- s2-45+3
S S = SR o M éfi . _@_]
- S - oL
Fis 2 2ot 3 (5-3)s5-1) $-3 5l .

H:(«ﬁ R Lﬁl %elcs F(s) g = wel® [’%ﬂ

PFD:
S-2= AGH) + /3(5-3)
& -[= -aB 5 -3
$=73 | = 2A = A=’li
. (-5 | s
o F(s)= e 35 + 2°F o




